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Fig 1. Results of one-way sensitivity analysis for Age. This analysis was performed by using a WTP of £20 000/2
QALY. ICER, incremental cost-effectiveness ratio.3
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Fig 2. Results of one-way sensitivity analysis for Utility of a favorable outcome. This analysis was performed by using5
a WTP of £20 000/ QALY. CTA, computed tomographic angiography; ICER, incremental cost-effectiveness ratio.6
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Fig 3. Results of one-way sensitivity analysis for Sensitivity of CTA. This analysis was performed by using a WTP of9
£20 000/ QALY. CTA, computed tomographic angiography; ICER, incremental cost-effectiveness ratio.10
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Fig 4. Results of one-way sensitivity analysis for Incidence of aneurysm. This analysis was performed by using a WTP12
of £20 000/ QALY. CTA, computed tomographic angiography; ICER, incremental cost-effectiveness ratio.13


